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1. BEFHIRA
x X B 3 B A I A 302 0 302
B OE & 3 B A I A 1,044 17,441, 409 17,448, 453
" it E ES 4z A 0 1,024, 341, 767 1,024, 341, 767
B B = * 4z A 950, 000 0 950, 000
x it = 14z A 181, 843, 957 459, 596, 403 641, 440, 360
i 14 A 3, 832, 506 1,719 3,834, 285
e A & 14 A 102, 742, 419 50, 000, 000 A 152,742,419 0
EXREHINAG 289, 376, 228 1,551, 381, 358 A 152,742,419 1,688,015, 167
2. EXEHPXH
= ES & b3 H 208, 857, 260 2,067, 465, 516 2,216,322, 7176
-] H & b3 H 31,938, 228 0 31,938, 228
e H = b3 H 50, 000, 000 102, 742, 419 A 152,742, 419 0
EXFHHE 290, 795, 488 2,170, 207, 935 A 152,742, 419 2,308, 261, 004
EXFHNESE A 1,419,260 A 618,826, 577 0 A 620, 245, 837
I REZHIOER
1. BEFPRA
B OE £ 3 Hx B A 0 997, 500, 000 997, 500, 000
REFBIRAGT 0 997, 500, 000 997, 500, 000
2. REEYXH
RBHEMA 51 5 B E B I XH 1,174,320 0 1,174,320
B OE £ 3 i I X H 0 1,228,673, 423 1,228,673, 423
REFE X HET 1,174,320 1,228,673, 423 1,229, 847, 743
REFBINESE A 1,174,320 A 231,173,423 A 232,347, 743
M EAFEBUDER
1. MHEFRA
& A & 14 A 0 1,000, 000, 000 1,000, 000, 000
A FEBIRAGT 0 1,000, 000, 000 1,000, 000, 000
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(B - M)
# —R=E EEHRRE NERERSE & & &t
2. MBEHXH
& A = ROF X 0 150, 000, 000 150, 000, 000
AR HE 0 150, 000, 000 150, 000, 000
MRS ELE 0 850, 000, 000 850, 000, 000
LU E R A 2,593,580 0 A 2,593,580
BT AR S Z 50 48, 995, 833 0 48,995, 833
REAEBIN =5 46, 402, 253 0 46, 402, 253




